Let's practise our counting with the
counting tin!

and fStEn to the maro
into the tin...

sounds stop, tell me what number y

2 3 4 § & 7T 8 907N 2.3 ¥ TN 2D




fWhat does this symbol mean?

repeated
addition

mutliplied
by




Key Learning: To recall and apply the 2, 5 and 10 times table.

; from O to 120
om O to 24
5s to 60
e 2,5 and 10 times tables in order

using my multiples of 2, 5 and 10 kn

ind 10 times tables in order

lots of multiplication
groups of repeated addition




_Let's take a look at the 10 times table.
7~ What patterns do you notice? [s's

10

0x10=0

1x10 =10
2x10=20
3 x10 =30
4 x 10 = 40
5 x10 =50
6 x 10 = 60
7x10 =170
8 x10 = 80
9 x10 =90
0 x 10 =100
11 x10 =110
2 x 10 =120




fHow can we work out 10 times table

equations? 3 X ‘IO -

3 x 10 means 3 lots oj" 10.
So we can add 3 lots of 10

together for our answer.




at strate wou ou use
v Wh qy ld y
solve7 x 10?

0y out the equation anc
it on your whiteboard




_Let’s take a look at the 5 times table.
~ What patterns do you notice? |¢s

f 0f 3 alwaU

100 Square




fHow can we work out 5 times table
equations? 4 X 5 —

4 x 5 means 4 lots of 5.
So we can add 4 lots of 5

together for our answer.

We can count up in 5s 4 times.




v What strateqy would you use
solve9q x 5?

Oy out the equation an
it on your whiteboarc




_Let's take a look at the 2 times table.
~ What patterns do you notice? [s's




’/{’How can we work out 2 times table

equations? 6 X 2 —

f | additi

6 x2means 6 lots of 2. [ [ H HEH

Sowecanadd 6 lotsof 2 9 492 42 4

together for our answer.

We can count up in 5s 4
times.




What strateqy would you use
/qa 9Y Yy
solve7 x 2?

Oy out the equation an
it on your whiteboarc




Miss Hughes has solved the  |&1
following equation. Is she correct?




carousel time!!

ll, Add and Multiply (5 x time

repeated addition with cubes [ n




Reflection
S —
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Iimes Tables up to 12 O : O I




